
www.metrixvibration.com • dps@metrixvibration.com • 281.940.1802 
Doc# 1894171 • 5495 • February 2024-Rev B • Page 1 of 4 

5495 Forward Mount Probe Holder
Datasheet

OVERVIEW
The 5495 Forward Mount Probe Holder provides a convient 
way to directly connect forward mount proximity probes on 
a machine case. The probe is threaded inside the center of 
the holder, which is securely mounted on the machine case 
at one end (Process Side). The other end (Connection Side) 
of the holder can be connected to 5498JB Junction Box or the 
8200 conduit elbow or other customer conduit connection.  
The holder is made of 316 Stainless Steel. The connection 
thread and process thread of the probe holder can be ¾”NPT 
or ½”NPT. See order information for options. Note: The 
5498JB Junction Box is made of aluminum and accepts the 
¾”NPT connection side.

Material: 316 Stainless steel 
Temperature Range: -40° to 140°C (-40° to 284°F)
Pressure: 50 psi (3.4 bar) with included sealing washer
Ingression Protection Rating: IP67
Connection and Process Thread: see order information
Overall Length: see drawings

SPECIFICATIONS

ASSEMBLY 5495 (OPTION 001, 002, 005, 006, 007, 008) WITH 5498JB

5498JB

5495

PROBE

Sealing Washer



www.metrixvibration.com • dps@metrixvibration.com • 281.940.1802 
Doc# 1894171 • 5495 • February 2024-Rev B • Page 2 of 4 

5495 Forward Mount Probe Holder
Datasheet

DIMENSIONS
Option 001 and 002

Option 003 and 004

SEE ORDERING INFO

SEE ORDERING INFO

PART NO. THREAD SIZE
101033‐001 3/8‐24 UNF x .500 DP.
101033‐002 M10x1 x .500 DP.

DASH TABLE

SECTION B-B
SCALE 3 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

REVSIZE DRAWING NUMBER

TITLE

DRAWN BY
REVISED BY
APPROVED BY

REVISION DETAILS FOR THIS ISSUE ONLY :-
CR No. STATUS

MATERIAL
FINISH
MATERIAL CODE No.

MASS IN LB(kg) =

DWG STATUS:

MODEL:

SCALE (PLOT)

TOLERANCES (IN) UNLESS OTHERWISE STATED :

.XXX
.X .XX
ANGLES 1° .005

.01
ALL DIMENSIONS IN INCHES           BREAK ALL EDGES:  
FINISH 64 RMS                                 .010" X 45° OR .010" R 
                                                            MAXIMUM CORNER RADIUS .010"

METRIX RESERVES PROPRIETARY RIGHTS TO THIS DRAWING AND THE DATA SHOWN THERON.  IT IS
SUBMITTED IN CONFIDENCE FOR QUOTATION OR ORDER OF THE PRODUCT SHOWN.  THIS DRAWING
AND/OR DATA ARE NOT TO BE USED OR REPRODUCED FOR ANY PURPOSE WITHOUT THE WRITTEN
CONSENT OF METRIX.

  © AS DATE OF ISSUE.

THIRD ANGLE PROJECTION

METRIX  8824 FALLBROOK, HOUSTON, TEXAS, 77064 USA

OF
SHT

C

  DATE:
  DATE:
  DATE:

.030 101033-XXX B

PROBE HOLDER, FORWARD MOUNT, 3/4 NPT

 
1 
1 

A. Wilson 01/06/20
  
  

1/1
101033-B.ipt

316 SST, 1.125 HEX STOCK
NONE

 

  
 

0.502 lbmass

 

FORM NO. 1370129  REV. A

B

B

REVISION HISTORY
REV CR/DESCRIPTION
A RELEASE
B ADDED .437 DIA

ALL MATERIALS AND COMPONENTS 
MUST BE RoHS COMPLIANT

NOTES: (UNLESS SPECIFIED OTHERWISE)

1.000

2.096
REF

1.125

SEE DASH
TABLE

.437

1.596 REF3/4 - 14 NPT
3/4 - 14 NPT

PART NO. THREAD SIZE
101034‐001 3/8‐24 UNF x .500 DP.
101034‐002 M10x1 x .500 DP.

DASH TABLE

SECTION B-B
SCALE 3 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

REVSIZE DRAWING NUMBER

TITLE

DRAWN BY
REVISED BY
APPROVED BY

REVISION DETAILS FOR THIS ISSUE ONLY :-
CR No. STATUS

MATERIAL
FINISH
MATERIAL CODE No.

MASS IN LB(kg) =

DWG STATUS:

MODEL:

SCALE (PLOT)

TOLERANCES (IN) UNLESS OTHERWISE STATED :

.XXX
.X .XX
ANGLES 1° .005

.01
ALL DIMENSIONS IN INCHES           BREAK ALL EDGES:  
FINISH 64 RMS                                 .010" X 45° OR .010" R 
                                                            MAXIMUM CORNER RADIUS .010"

METRIX RESERVES PROPRIETARY RIGHTS TO THIS DRAWING AND THE DATA SHOWN THERON.  IT IS
SUBMITTED IN CONFIDENCE FOR QUOTATION OR ORDER OF THE PRODUCT SHOWN.  THIS DRAWING
AND/OR DATA ARE NOT TO BE USED OR REPRODUCED FOR ANY PURPOSE WITHOUT THE WRITTEN
CONSENT OF METRIX.

  © AS DATE OF ISSUE.

THIRD ANGLE PROJECTION

METRIX  8824 FALLBROOK, HOUSTON, TEXAS, 77064 USA

OF
SHT

C

  DATE:
  DATE:
  DATE:

.030 101034-XXX B

PROBE HOLDER, FORWARD MOUNT, 1/2 NPT

 
1 
1 

A. Wilson 01/07/20
  
  

1/1
101034-B.ipt

316 SST, 1.000 HEX STOCK
NONE

 

  
 

0.336 lbmass

 

FORM NO. 1370129  REV. A

B

B

REVISION HISTORY
REV CR/DESCRIPTION
A RELEASE
B ADDED .437 DIA.

ALL MATERIALS AND COMPONENTS 
MUST BE RoHS COMPLIANT

NOTES: (UNLESS SPECIFIED OTHERWISE)

1.000

1.000

2.068
REF

1/2 - 14 NPT
1/2 - 14 NPT

.437Ø

1.568

SEE DASH
TABLE



www.metrixvibration.com • dps@metrixvibration.com • 281.940.1802 
Doc# 1894171 • 5495 • February 2024-Rev B • Page 3 of 4 

5495 Forward Mount Probe Holder
Datasheet

Option 005 and 006

Option 007 and 008

SEE ORDERING INFO

SEE ORDERING INFO

PART NO. THREAD SIZE
101035‐001 3/8‐24 UNF x .500 DP.
101035‐002 M10x1 x .500 DP.

DASH TABLE

SECTION B-B
SCALE 3 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

REVSIZE DRAWING NUMBER

TITLE

DRAWN BY
REVISED BY
APPROVED BY

REVISION DETAILS FOR THIS ISSUE ONLY :-
CR No. STATUS

MATERIAL
FINISH
MATERIAL CODE No.

MASS IN LB(kg) =

DWG STATUS:

MODEL:

SCALE (PLOT)

TOLERANCES (IN) UNLESS OTHERWISE STATED :

.XXX
.X .XX
ANGLES 1° .005

.01
ALL DIMENSIONS IN INCHES           BREAK ALL EDGES:  
FINISH 64 RMS                                 .010" X 45° OR .010" R 
                                                            MAXIMUM CORNER RADIUS .010"

METRIX RESERVES PROPRIETARY RIGHTS TO THIS DRAWING AND THE DATA SHOWN THERON.  IT IS
SUBMITTED IN CONFIDENCE FOR QUOTATION OR ORDER OF THE PRODUCT SHOWN.  THIS DRAWING
AND/OR DATA ARE NOT TO BE USED OR REPRODUCED FOR ANY PURPOSE WITHOUT THE WRITTEN
CONSENT OF METRIX.

  © AS DATE OF ISSUE.

THIRD ANGLE PROJECTION

METRIX  8824 FALLBROOK, HOUSTON, TEXAS, 77064 USA

OF
SHT

C

  DATE:
  DATE:
  DATE:

.030 101035-XXX B

PROBE HOLDER, FORWARD MOUNT, 1/2 NPT - 3/4
NPT

 
1 
1 

A. Wilson 01/09/20
  
  

1/1
101035-B.ipt

316 SST, 1.125 HEX STOCK
NONE

 

  
 

0.449 lbmass

 

FORM NO. 1370129  REV. A

B

B

REVISION HISTORY
REV CR/DESCRIPTION
A RELEASE
B ADDED .437 DIA.

ALL MATERIALS AND COMPONENTS 
MUST BE RoHS COMPLIANT

NOTES: (UNLESS SPECIFIED OTHERWISE)

1.000

1.125

2.068
REF

3/4 - 14 NPT

SEE DASH
TABLE

1/2 - 14 NPT

.437

1.568 REF

PART NO. THREAD SIZE
101038‐001 1/2‐20 UNF x .500 DP.
101038‐002 M14x1.5 x .500 DP.

DASH TABLE

SECTION A-A
SCALE 3 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

REVSIZE DRAWING NUMBER

TITLE

DRAWN BY
REVISED BY
APPROVED BY

REVISION DETAILS FOR THIS ISSUE ONLY :-
CR No. STATUS

MATERIAL
FINISH
MATERIAL CODE No.

MASS IN LB(kg) =

DWG STATUS:

MODEL:

SCALE (PLOT)

TOLERANCES (IN) UNLESS OTHERWISE STATED :

.XXX
.X .XX
ANGLES 1° .005

.01
ALL DIMENSIONS IN INCHES           BREAK ALL EDGES:  
FINISH 64 RMS                                 .010" X 45° OR .010" R 
                                                            MAXIMUM CORNER RADIUS .010"

METRIX RESERVES PROPRIETARY RIGHTS TO THIS DRAWING AND THE DATA SHOWN THERON.  IT IS
SUBMITTED IN CONFIDENCE FOR QUOTATION OR ORDER OF THE PRODUCT SHOWN.  THIS DRAWING
AND/OR DATA ARE NOT TO BE USED OR REPRODUCED FOR ANY PURPOSE WITHOUT THE WRITTEN
CONSENT OF METRIX.

  © AS DATE OF ISSUE.

THIRD ANGLE PROJECTION

METRIX  8824 FALLBROOK, HOUSTON, TEXAS, 77064 USA

OF
SHT

C

  DATE:
  DATE:
  DATE:

.030 101038-XXX A

PROBE HOLDER, FORWARD MOUNT, 3/4 NPT BOTH
CONNECTION AND PROCESS THREADS, 1/2-20 and

M14 PROBE THREAD 
1 
1 

A. Wilson 01/28/20
  
  

1/1
101038.ipt

316 SST, 1.125 HEX STK
NONE

 

  
 

0.447 lbmass

 

FORM NO. 1370129  REV. A

A

A

ALL MATERIALS AND COMPONENTS 
MUST BE RoHS COMPLIANT

NOTES: (UNLESS SPECIFIED OTHERWISE)

REVISION HISTORY
REV CR/DESCRIPTION
A RELEASE

1.000

2.096
REF

3/4 - 14 NPT3/4 - 14 NPT

1.125

SEE DASH TABLE

.562Ø

1.596 REF



www.metrixvibration.com • dps@metrixvibration.com • 281.940.1802 
Doc# 1894171 • 5495 • February 2024-Rev B • Page 4 of 4 

5495 Forward Mount Probe Holder
Datasheet

5495 – AAA
AAA DESCRIPTION Sealing Washer

001 ¾” NPT connection thread, ¾” NPT process thread, ⅜”-24 probe thread 91201-012

002 ¾” NPT connection thread, ¾” NPT process thread, M10x1 probe thread 91201-012

003 ½” NPT connection thread, ½” NPT process thread, ⅜”-24 probe thread 91201-012

004 ½” NPT connection thread, ½” NPT process thread, M10x1 probe thread 91201-012

005 ¾” NPT connection thread, ½” NPT process thread, ⅜”-24 probe thread 91201-012

006 ¾” NPT connection thread, ½” NPT process thread, M10x1 probe thread 91201-012

007 ¾” NPT connection thread, ¾” NPT process thread, ½”-20 probe thread 91201-013

008 ¾” NPT connection thread, ¾” NPT process thread, M14x1.5 probe thread 91201-007

009 ⅞”-14 UNF connection thread, ½” NPT process thread, ⅜”-24 probe thread 91201-012

010 ⅜”-24 UNF connection thread, ½” NPT process thread, ¼”-28 probe thread 91201-002

011 ⅞”-14 UNF connection thread, ¾” NPT process thread, ⅜”-24 probe thread 91201-012

HOW TO ORDER


